

December 18, 2024

VIA RESS

Ontario Energy Board P.O. Box 2319, 2300 Yonge Street, 27th Floor Toronto, ON M4P 1E4 Attention: Registrar

Dear Ms. Marconi,

Re: Toronto Hydro-Electric System Limited ("Toronto Hydro")

Application for electricity distribution rates and other charges beginning January

1, 2025

Board File No.: EB-2023-0195

We are counsel to the Distributed Resource Coalition ("**DRC**") in the above-noted proceeding (the "**Proceeding**"). Further to the Board's Partial Decision and Order dated December 10, 2024, please find enclosed DRC's cost claim in respect of the Proceeding.

DRC respectfully requests an award of 100% of its eligible costs, given its strategic and principled participation in the Proceeding on behalf of otherwise unrepresented ratepayers with unique interests. DRC submits that this request is supported by the following considerations:

- (i) DRC participated effectively, taking a surgical, principled, and coordinated approach to the issues and undertaking coordination with other intervenors to avoid overlap and maximize efficiency in all aspects of the Proceeding;
- (ii) DRC participated responsibly and made reasonable efforts to ensure that its participation was not unduly repetitive and was focused on relevant and material issues; and
- (iii) DRC contributed to the Board's better understanding of issues in the Proceeding by participating in the Technical Conference, Settlement Conference, Oral Hearings, and the filing of final written submissions.

We trust that this approach maximizes efficient use of resources and the right of otherwise unrepresented distributed energy resource, electric vehicle and related ratepayers to be heard in a manner that is consistent with the Board's mandate and statutory objectives.

DRC respectfully requests a full award of eligible costs.

Sincerely,

DT Vollmer

c. Daliana Coban, Toronto Hydro
Charles Keizer, Torys LLP, Counsel for Toronto Hydro
Arlen Sternberg, Torys LLP, Counsel for Toronto Hydro
Cara Clairman, Plug'n Drive
Devin Arthur, Electric Vehicle Society

EB-2023-0195 : 1 : Monika Pecnikova

COST CLAIM NUMBER SUBMISSION DEADLINE DATE

2429 December 19, 2024

CLAIM STATUS
Approved by Finance

EB# OTHER EB#S PHASE #*

EB-2023-0195: Rates: Distribution: Toronto

Pecnikova, Monika; +1 (647) 991-1190

Hydro-Electric System Limited

monika@resilientllp.com

INTERVENOR COMPANY*

Distributed Resource Coalition,

Toronto: Cooperative

INTERVENOR TYPE

Full Registrant

HST RATE ONTARIO EXCHANGE RATE COUNTRY

13.00

INTERVENOR

HST NUMBER LATE SUBMISSION ALLOWED

No

EXTENSION DEADLINE DATE

PARTI New	Non-Filing Participant First, Last Name	Filing Participant	Total (\$)	Total Hours	Participant Claim Status
No	,	DeMarco, Lisa (Elisabeth) ; +1 (647) 991-1190 lisa@resilientllp.com	1,267.86	3.40	Submitted
No	,	Daube, Nicholas; +1 (647) 991-1190 nicholas@resilientllp.com	56,036.70	171.00	Submitted
No	,	Vollmer, Daniel; +()647.993.6338 daniel@resilientllp.com	6,454.56	33.60	Submitted

ATTACHMENTS

Attachment	Document Type	Import Message
Cover letter.pdf	Cover	
	Letter	
DRC EB-2023-0195 Cost Claim 121820241649.pdf		

TOTAL LEGAL/CONSULTANT/OTHER FEES 56,424.00

TOTAL DISBURSEMENTS 0.00

TOTAL HST 7,335.12

TOTAL CLAIM 63,759.12 TOTAL AMOUNT AWARDED

TOTAL HOURS CLAIMED

TOTAL HOURS DISALLOWED

208.00

REASON FOR **REASON FOR REASON FOR** DISALLOWANCE DISALLOWANCE - 2 **DISALLOWANCE - 3**

MAKE CHEQUE PAYABLE TO Resilient LLP

SEND PAYMENT TO ADDRESS **ATTENTION**

119 Baby Point Road Toronto, ON M6S 2G7

SUBMIT SECTION

I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY DATE SUBMITTED Daniel Vollmer December 18, 2024 **CASE**

EB-2023-0195: Rates: Distribution: Toronto

Hydro-Electric System Limited

COST CLAIM

EB-2023-0195 : 1 : Monika

Pecnikova

INTERVENOR NAME

Pecnikova, Monika; +1 (647)

991-1190

monika@resilientllp.com

PARTICIPANT CLAIM STATUS

Submitted

FILING PARTICIPANT

DeMarco, Lisa (Elisabeth); +1 (647) 991-1190

lisa@resilientllp.com

NEW

PARTICIPANT

No

NON-FILING

PARTICIPANT F. NAME

ΔME

NON-FILING

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE*

Legal Counsel

YEAR CALLED TO BAR*

1997

COMPLETED YEARS
PRACTICING/YEARS OF

RELEVANT EXPERIENCE*

26

HST RATE CHARGED*

13.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Provided within Previous

24 Months

LAST CV DATE

April 29, 2024

OVERRIDE HOURLY RATE

HOURLY RATE

330

No

HST NUMBER

HEARINGS

Yes

CONSULTATIONS

No

DISBURSEMENTS

No

HEARINGS

Hearings Hours 3.40 Hearings Subtotal (\$) 1,122.00 Hearings Total Tax (\$) 145.86 Hearings Total (\$) 1,267.86

HST Sub Total HST Total Name <u>Hours</u> **Hourly** Rate Rate **DISCOVERY** Read and Research Application and 330 13.00 Evidence Preparation of Interrogatories 330 13.00 **Review Interrogatory Responses** 330 13.00 **Technical Conference Preparation** 330 13.00 330 13.00 **Technical Conference Attendance** 13.00 Technical Conference Follow-up 330 Subtotal of DISCOVERY 0.00 0.00 0.00 0.00 **PROCEDURAL** Preparation of Issues List Submission 330 13.00 Attendance at Issues List Conference 330 13.00 Preparation for a Confidentiality Request 330 13.00 Prepare Submissions on Confidentiality 330 13.00 Preparation of Motion(s) Materials 330 13.00 Prepare Submissions on the Motion(s) 330 13.00 Attendance at Hearing on Motion(s) 330 13.00 **Review Procedural Documents** 330 13.00

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	<u>HST</u> Rate	<u>HST</u>	<u>Total</u>
Subtotal of PROCEDURAL	0.00		0.00		0.00	0.00
INTERVENOR EVIDENCE Preparation of Intervenor Evidence	2.00	330	660.00	13.00	85.80	745.80
Interrogatory Responses		330		13.00		
Preparation of Witness(es) for Attendance at Hearing		330		13.00		
Subtotal of INTERVENOR EVIDENCE	2.00		660.00		85.80	745.80
SETTLEMENT CONFERENCE Preparation for Settlement Conference	1.40	330	462.00	13.00	60.06	522.06
Attendance at Settlement Conference		330		13.00		
Preparation of Settlement Proposal		330		13.00		
Attendance at Presentation to Panel		330		13.00		
Subtotal of SETTLEMENT CONFERENCE WRITTEN ARGUMENT	1.40		462.00		60.06	522.06
Written Submissions		330		13.00		
Subtotal of WRITTEN ARGUMENT	0.00		0.00		0.00	0.00
ORAL ARGUMENT Preparation for Oral Hearing		330		13.00		
Attendance at Oral Hearing		330		13.00		
Oral Submissions		330		13.00		
Attendance at Oral Submissions		330		13.00		
Subtotal of ORAL ARGUMENT	0.00		0.00		0.00	0.00
DECISION Review Decision		330		13.00		
Review Rate/Accounting Order		330		13.00		
Prepare Submission on Rate Order		330		13.00		
Subtotal of DECISION	0.00		0.00		0.00	0.00
OTHER Other Attendance (e.g., Intervenor	5.55	330		13.00		0.00
Conferences) Subtotal of OTHER	0.00		0.00		0.00	0.00
TOTAL SERVICE PROVIDER FEES Total Service Provider Fees	3.40		1,122.00		145.86	1,267.86

Attachments

<u>Attachment</u> **Document Type**

EB-2023-0195_CostClaim_DRC_TimeSheet

s_Lisa DeMarco.pdf

Time Docket

Hearings, Consultations, Disbursements Attachments

Attachment
EB-2023-0195_CostClaim_DRC_TimeShee
ts_Lisa DeMarco.pdf

Document Type
Time Docket

Claim Type Hearings

			EB-2023-0195_Cost Claim_DRC_Time Sheets_Lisa De	Marco			
Туре	Date	Hours	Description	Rate (\$)	Billable (\$)	User	Bill#
TimeEntry	05/28/2024	0.4	SCP - Instructions to N. Daube re DER Cybersecurity;	\$330.00	\$ 132.00	Lisa DeMarco	24173
TimeEntry	05/29/2024	0.6	SCP - Communications with client; Instructions to N. Daube	\$330.00	\$ 198.00	Lisa DeMarco	24173
			re proposals related to cybersecurity for DERs and for				
			vehicle to grid pilot program;				
TimeEntry	05/30/2024	0.4	SCP - Instructions to N. Daube re revisions to innovation	\$330.00	\$ 132.00	Lisa DeMarco	24173
			fund proposal for consideration by intervenors in				
			settlement conference;				
TimeEntry	07/03/2024	1.7	Preparation of Intervenor Evidence - Prepare for and attend	\$330.00	\$ 561.00	Lisa DeMarco	24173
			on call with T Chapman regarding possible expert retainer;				
			Pre and post follow-up with N. Daube;				
TimeEntry	07/04/2024	0.3	Preparation of Intervenor Evidence - Instructions to N.	\$330.00	\$ 99.00	Lisa DeMarco	24173
			Daube letter to OEB regarding proposed introduction of				
			expert evidence;				
Total		3.4			\$ 1,122.00		

CASE

EB-2023-0195: Rates: Distribution: Toronto

Hydro-Electric System Limited

COST CLAIM

EB-2023-0195 : 1 : Monika

Pecnikova

INTERVENOR NAME

Pecnikova, Monika; +1 (647)

991-1190

monika@resilientllp.com

PARTICIPANT CLAIM STATUS

Submitted

FILING PARTICIPANT

Daube, Nicholas; +1 (647) 991-1190

nicholas@resilientllp.com

NEW

PARTICIPANT

No

NON-FILING

PARTICIPANT F. NAME

NON-FILING

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE*

Legal Counsel

YEAR CALLED TO BAR*

2007

COMPLETED YEARS
PRACTICING/YEARS OF

RELEVANT EXPERIENCE*

17

HST RATE CHARGED*

13.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Provided within Previous

24 Months

LAST CV DATE

July 31, 2024

OVERRIDE HOURLY RATE

HOURLY RATE

290

No

HST NUMBER

HEARINGS

Yes

CONSULTATIONS

No

DISBURSEMENTS

No

HEARINGS

 Hearings Hours
 Hearings Subtotal (\$)
 Hearings Total Tax (\$)
 Hearings Total (\$)

 171.00
 49,590.00
 6,446.70
 56,036.70

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
DISCOVERY Read and Research Application and Evidence	2.10	290	609.00	13.00	79.17	688.17
Preparation of Interrogatories	26.80	290	7,772.00	13.00	1,010.36	8,782.36
Review Interrogatory Responses	12.90	290	3,741.00	13.00	486.33	4,227.33
Technical Conference Preparation	7.00	290	2,030.00	13.00	263.90	2,293.90
Technical Conference Attendance	16.70	290	4,843.00	13.00	629.59	5,472.59
Technical Conference Follow-up		290		13.00		
Subtotal of DISCOVERY	65.50		18,995.00		2,469.35	21,464.35
PROCEDURAL Preparation of Issues List Submission	0.30	290	87.00	13.00	11.31	98.31
Attendance at Issues List Conference	2.60	290	754.00	13.00	98.02	852.02
Preparation for a Confidentiality Request		290		13.00		
Prepare Submissions on Confidentiality		290		13.00		
Preparation of Motion(s) Materials		290		13.00		
Prepare Submissions on the Motion(s)		290		13.00		
Attendance at Hearing on Motion(s)		290		13.00		
Review Procedural Documents	0.40	290	116.00	13.00	15.08	131.08

<u>Na</u>	<u>ame</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Sı	ubtotal of PROCEDURAL	3.30		957.00		124.41	1,081.41
	ENOR EVIDENCE reparation of Intervenor Evidence	6.70	290	1,943.00	13.00	252.59	2,195.59
In	terrogatory Responses		290		13.00		
at	reparation of Witness(es) for Attendance : Hearing ubtotal of INTERVENOR EVIDENCE	6.70	290	1,943.00	13.00	252.59	2,195.59
		0.70		1,943.00		232.39	2,195.59
_	MENT CONFERENCE reparation for Settlement Conference	12.40	290	3,596.00	13.00	467.48	4,063.48
At	ttendance at Settlement Conference	55.60	290	16,124.00	13.00	2,096.12	18,220.12
Pr	reparation of Settlement Proposal	6.50	290	1,885.00	13.00	245.05	2,130.05
At	ttendance at Presentation to Panel		290		13.00		
C	ubtotal of SETTLEMENT ONFERENCE N ARGUMENT	74.50		21,605.00		2,808.65	24,413.65
	/ritten Submissions	15.60	290	4,524.00	13.00	588.12	5,112.12
Sı	ubtotal of WRITTEN ARGUMENT	15.60		4,524.00		588.12	5,112.12
_	RGUMENT reparation for Oral Hearing	1.40	290	406.00	13.00	52.78	458.78
At	ttendance at Oral Hearing		290		13.00		
O	ral Submissions		290		13.00		
At	ttendance at Oral Submissions		290		13.00		
Sı	ubtotal of ORAL ARGUMENT	1.40		406.00		52.78	458.78
DECISIO Re	DN eview Decision	0.80	290	232.00	13.00	30.16	262.16
	eview Rate/Accounting Order		290		13.00		
	repare Submission on Rate Order		290		13.00		
	ubtotal of DECISION	0.80		232.00		30.16	262.16
OTHER							
Ot	ther Attendance (e.g., Intervenor onferences)	3.20	290	928.00	13.00	120.64	1,048.64
Sı	ubtotal of OTHER	3.20		928.00		120.64	1,048.64
	SERVICE PROVIDER FEES otal Service Provider Fees	171.00		49,590.00		6,446.70	56,036.70

Attachments

<u>Attachment</u> **Document Type** Import Message

EB-2023-0195_CostClaim_DRC_TimeSheet

Time Docket

s_Nicholas Daube.pdf

Hearings, Consultations, Disbursements Attachments

<u>Attachment</u>
EB-2023-0195_CostClaim_DRC_TimeShee
ts_Nicholas Daube.pdf

Document Type
Time Docket

Claim Type Hearings

			EB-2023-0195_Cost Claim_DRC_Time Sheets_Ni	cholas Daul	be			
Туре	Date	Hours	Description	Rate (\$)	Bil	lable (\$)	User	Bill#
TimeEntry	01/03/2024		Read and Research Application - Reviewing record and drafting Notice of Intervention;	\$ 290.00	\$	522.00	Nicholas Daube	24116
TimeEntry	01/05/2024	0.3	Read and Research Application - Finalizing and filing Notice of Intervention;	\$290.00	\$	87.00	Nicholas Daube	24116
TimeEntry	01/16/2024	0.4	Review prodedural documents - Reviewing procedural order and proposed issues list, and updating clients regarding same;	\$ 290.00	\$	116.00	Nicholas Daube	24116
TimeEntry	01/22/2024	2.6	ICA - Attending issues conference;	\$290.00	\$	754.00	Nicholas Daube	24116
	01/23/2024	0.3	ICP - Reviewing OEB Staff draft letter regarding issues list and drafting confirmation that DRC takes no issue with proposed text;	\$ 290.00	\$		Nicholas Daube	24116
	01/26/2024	3.8	IRP - Reviewing record for IRs;	\$290.00	\$	1,102.00	Nicholas Daube	24116
	01/29/2024	2.3	IRP - Reviewing record for IRs;	\$290.00	\$	667.00	Nicholas Daube	24116
	01/30/2024	0.6	IRP - Reviewing record for IRs;	\$ 290.00	\$	174.00	Nicholas Daube	24116
	01/31/2024	2.1	IRP - Reviewing record for IRs;	\$290.00	\$	609.00	Nicholas Daube	24116
	02/01/2024	1.1	IRP - Reviewing record for IRs;	\$ 290.00	\$	319.00	Nicholas Daube	24116
TimeEntry	02/02/2024	2.2	IRP - Reviewing record for IRs;	\$290.00	\$	638.00	Nicholas Daube	24116
	02/05/2024	1.5	IRP - Reviewing record for IRs;	\$290.00	\$	435.00	Nicholas Daube	24116
	02/06/2024	3.1	IRP - Reviewing record for Its;	\$290.00	\$	899.00	Nicholas Daube	24116
TimeEntry	02/07/2024	1.6	IRP - Drafting interrogatories;	\$290.00	\$	464.00	Nicholas Daube	24116
TimeEntry	02/09/2024	5.2	IRP - Drafting interrogatories;	\$290.00	\$	1,508.00	Nicholas Daube	24116
TimeEntry	02/08/2024	1.7	IRP - Drafting interrogatories;	\$290.00	\$	493.00	Nicholas Daube	24116
TimeEntry	02/12/2024	0.7	IRP - Finalizing interrogatories;	\$ 290.00	\$	203.00	Nicholas Daube	24116
TimeEntry	03/25/2024	1.3	IRR - Reviewing portion of interrogatory responses;	\$ 290.00	\$	377.00	Nicholas Daube	24116
TimeEntry	03/26/2024	2.6	IRR - Reviewing portion of interrogatory responses;	\$ 290.00	\$	754.00	Nicholas Daube	24116
TimeEntry	03/27/2024	4.1	IRR _ Reviewing portion of interrogatory responses;	\$ 290.00	\$	1,189.00	Nicholas Daube	24116

TimeEntry	03/28/2024	1.6	IRR - Reviewing portion of interrogatory responses;	\$ 290.00	\$ 464.00	Nicholas Daube	24116
TimeEntry	04/02/2024	1.5	IRR - Reviewing responses to interrogatories in preparation for technical conference;	\$ 290.00	\$ 435.00	Nicholas Daube	24173
TimeEntry	04/02/2024	3.3	TCP - Preparing for technical conference;	\$ 290.00	\$ 957.00	Nicholas Daube	24173
TimeEntry	04/08/2024	6.7	TCA - Attending and asking questions at Day 1 of technical conference;	\$ 290.00	\$ 1,943.00	Nicholas Daube	24173
TimeEntry	04/09/2024	3.9	TCA - Attending Day 2 of technical conference;	\$ 290.00	\$ 1,131.00	Nicholas Daube	24173
TimeEntry	04/09/2024	0.3	TCP - Preparing for panel 2 questions at technical conference;	\$ 290.00	\$ 87.00	Nicholas Daube	24173
TimeEntry	04/10/2024		TCP - Preparing for panel 2 questions at technical conference;	\$ 290.00	\$ 203.00	Nicholas Daube	24173
TimeEntry	04/10/2024	3.3	TCA - Attending day 3 of technical conference and asking questions of panel 2;	\$ 290.00	\$ 957.00	Nicholas Daube	24173
TimeEntry	04/11/2024	1.9	TCP - Preparing for panel 3 questions at technical conference;	\$ 290.00	\$ 551.00	Nicholas Daube	24173
TimeEntry	04/11/2024	2.8	TCA - Attending day 4 of technical conference and asking questions of panel 3;	\$ 290.00	\$ 812.00	Nicholas Daube	24173
	04/12/2024		TCP - Reviewing record to determine need for any further questioning at technical conference and communications with OEB Staff regarding same;	\$ 290.00	\$ 232.00	Nicholas Daube	24173
TimeEntry	05/07/2024	0.9	IRP - Reviewing BOMA expert report for possible interrogatories;	\$ 290.00	\$ 261.00	Nicholas Daube	24173
	05/07/2024	1.4	IRR - Reviewing first OEB Staff expert report for possible interrogatories;	\$ 290.00	\$ 406.00	Nicholas Daube	24173
	05/07/2024	0.4	IRR - Reviewing second OEB Staff expert report for possible interrogatories;	\$ 290.00	\$ 116.00	Nicholas Daube	24173
TimeEntry	05/22/2024	3.2	OCA - Attending Toronto Hydro evidence presentation to OEB;	\$ 290.00	\$ 928.00	Nicholas Daube	24173

TimeEntry	05/23/2024	5.4	SCP - Preparing for settlement conference and drafting	\$ 290.00	\$	1 566 00	Nicholas Daube	24173
,	03/23/2024	3.4	recommended strategy for client review and approval;	7 230.00	7	1,500.00	Nicholas Baabe	24173
			recommended strategy for chefit review and approval,					
TimeEntry	05/24/2024	1.8	SCP - Drafting strategy for settlement conference and	\$ 290.00	\$	522.00	Nicholas Daube	24173
			summary of positions of relevant issues for client					
			review and approval;					
TimeEntry	05/27/2024	6.8	SCA - Attending settlement conference;	\$290.00	\$	1,972.00	Nicholas Daube	24173
TimeEntry	05/28/2024	6.9	SCA - Attending settlement conference;	\$290.00	\$	2,001.00	Nicholas Daube	24173
TimeEntry	05/28/2024	0.7	SCP - Preparing for settlement conference and drafting	\$ 290.00	\$	203.00	Nicholas Daube	24173
			emails to obtain client instructions;					
TimeEntry	05/29/2024	0.9	SCP - Preparing for settlement conference, including	\$ 290.00	\$	261.00	Nicholas Daube	24173
			drafting proposals related to cybersecurity for DERs					
			and for vehicle to grid pilot program;					
TimeEntry	05/29/2024	6.7	SCA - Attending settlement conference;	\$ 290.00	\$	1,943.00	Nicholas Daube	24173
			_					
TimeEntry	05/30/2024	1.5	SCP - Drafting revisions to innovation fund proposal for	\$ 290.00	\$	435.00	Nicholas Daube	24173
			consideration by intervenors in settlement conference;					
TimeEntry	05/30/2024	7.4	SCA - Attending settlement conference;	\$290.00	\$	2,146.00	Nicholas Daube	24173
TimeEntry	06/03/2024	6.9	SCA - Attending settlement conference;	\$290.00	\$	2,001.00	Nicholas Daube	24173
TimeEntry	06/06/2024	4.7	SCA - Attending settlement conference;	\$290.00	\$	1,363.00	Nicholas Daube	24173
TimeEntry	06/05/2024	5.2	SCA - Attending settlement conference;	\$290.00	\$	1,508.00	Nicholas Daube	24173
TimeEntry	06/04/2024	7.2	SCA - Attending settlement conference;	\$290.00	\$	2,088.00	Nicholas Daube	24173
TimeEntry	06/06/2024	0.4	OHP - Call with summer student to give instructions for	\$ 290.00	\$	116.00	Nicholas Daube	24173
			review of innovation funds in preparation for hearing;					
TimeEntry	06/10/2024	2.1	SCP - Reporting in detail to client on status of	\$ 290.00	\$	609.00	Nicholas Daube	24173
			settlement negotiations, outstanding items, and likely					
			next steps in proceeding;					
TimeEntry	06/10/2024	3.8	SCA - Attending settlement conference;	\$ 290.00	\$	1,102.00	Nicholas Daube	24173
			_					

				г.				
TimeEntry	06/12/2024	0.3	SPP - Reviewing emails among intervenors regarding	\$ 290.00	\$	87.00	Nicholas Daube	24173
			status of settlement discussions and confirming DRC's					
			position regarding same;					
TimeEntry	06/17/2024	0.4	OHP - Drafting email to clients with recommendations	\$ 290.00	\$	116.00	Nicholas Daube	24173
			on next steps in relation to the innovation fund;					
TimeEntry	06/24/2024	0.4	Preparation of Intervenor Evidence - Participating in	\$ 290.00	\$	116.00	Nicholas Daube	24173
			call with clients to obtain instructions for potential					
			expert retainer in relation to innovation fund;					
TimeEntry	06/28/2024	0.6	OHP - Revising background memorandum on	\$ 290.00	\$	174.00	Nicholas Daube	24173
			innovation fund and instructions to summer student					
			regarding same in preparation for hearing on the issue;					
TimeEntry	07/03/2024	0.5	Preparation of Intervenor Evidence - Preparing for and	\$ 290.00	\$	145.00	Nicholas Daube	24173
	, .		participating in call with T Chapman regarding possible		•			
			expert retainer;					
TimeEntry	07/03/2024	0.9	Preparation of Intervenor Evidence - Drafting letter to	\$ 290.00	\$	261.00	Nicholas Daube	24173
	, , , , , , , , , ,		OEB regarding proposed retainer of expert on matters	* ======	, T			
			relating to the innovation fund;					
TimeEntry	07/04/2024	4.2	Preparation of Intervenor Evidence - Drafting letter to	\$ 290.00	\$	1.218.00	Nicholas Daube	24173
	.,,		OEB regarding proposed introduction of expert	* ======	, T	_,		
			evidence for client review and comment;					
TimeEntry	07/05/2024	0.5	Preparation of Intervenor Evidence - Finalizing letter to	\$ 290.00	\$	145.00	Nicholas Daube	24173
	, .		OEB regarding proposed expert retainer;		•			
TimeEntry	07/08/2024	0.2	Preparation of Intervenor Evidence - Drafting update to	\$ 290.00	\$	58.00	Nicholas Daube	24173
	, .		prospective expert in light of recent correspondence		•			
			from OEB Staff regarding potential procedural					
			timelines;					
TimeEntry	07/12/2024	2.4	SPP - Reviewing terms of settlement and providing	\$ 290.00	\$	696.00	Nicholas Daube	24173
			comments to broader intervenor group;		'			
TimeEntry	07/26/2024	0.3	SPP - Reviewing latest draft of settlement agreement;	\$ 290.00	\$	87.00	Nicholas Daube	24173
	, ,	2.0	and the second with the second way continuity		*	230		0

TimeEntry	08/07/2024	1.7	SPP - Reviewing latest drafts of settlement agreement	\$ 290.00	\$	493.00	Nicholas Daube	24173
			and providing comments to intervenor group;					
TimeEntry	08/11/2024	0.6	SPP - Providing comments to intervenor group on	\$ 290.00	\$	174.00	Nicholas Daube	24173
			revised settlement documents;					
TimeEntry	08/14/2024	0.4	SPP - Reviewing updated settlement documents and	\$ 290.00	\$	116.00	Nicholas Daube	24173
			providing comments to intervenor group;					
TimeEntry	08/15/2024	0.8	SPP - Reviewing settlement documents for purposes of	\$ 290.00	\$	232.00	Nicholas Daube	24173
			final sign-off;					
TimeEntry	08/27/2024	0.3	APR - Beginning preparation of outline for final	\$ 290.00	\$	87.00	Nicholas Daube	24173
			submissions;					
	08/28/2024	1.4	APR - Preparing final submissions;	\$ 290.00	\$	406.00	Nicholas Daube	24173
	08/29/2024	2.4	APR - Preparing final submissions;	\$ 290.00	\$	696.00	Nicholas Daube	24173
TimeEntry	08/30/2024	1.8	APR - Preparing final submissions;	\$290.00	\$	522.00	Nicholas Daube	24173
TimeEntry	09/03/2024	0.8	APR - Drafting outline for final submissions for	\$ 290.00	\$	232.00	Nicholas Daube	24173
			discussion with and approval by clients, then circulating					
			outline to clients by email;					
TimeEntry	09/09/2024	0.8	APR - Preparing for and participating in call with clients	\$ 290.00	\$	232.00	Nicholas Daube	24173
			to discuss and obtain instructions for final submissions;					
TimeEntry	09/15/2024	5.2	APR - Drafting written submissions on Innovation Fund	\$ 290.00	\$	1,508.00	Nicholas Daube	24173
			issue;					
TimeEntry	09/17/2024	1.6	APR - Drafting final submissions;	\$290.00	\$	464.00	Nicholas Daube	24173
	09/18/2024	1.3	APR - Finalizing written submissions;	\$290.00	\$	377.00	Nicholas Daube	24173
TimeEntry	12/13/2024	0.8	Review Decision - Reviewing Board decision on	\$ 290.00	\$	232.00	Nicholas Daube	24173
			Innovation Fund and reporting on same to clients;					
Total		171			\$ 4	49,590.00		

Daniel Vollmer

CASE

EB-2023-0195: Rates: Distribution: Toronto Hydro-Electric System Limited **COST CLAIM**

EB-2023-0195: 1: Monika

Pecnikova

INTERVENOR NAME

Pecnikova, Monika; +1 (647)

991-1190

monika@resilientllp.com

PARTICIPANT CLAIM STATUS

Submitted

FILING PARTICIPANT

Vollmer, Daniel; +()647.993.6338 daniel@resilientllp.com

NEW

PARTICIPANT

NON-FILING

PARTICIPANT F. NAME

NON-FILING

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE*

Legal Counsel

YEAR CALLED TO BAR*

2020

COMPLETED YEARS PRACTICING/YEARS OF **RELEVANT EXPERIENCE***

3

HST RATE CHARGED*

13.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Provided within Previous

24 Months

LAST CV DATE

March 21, 2024

OVERRIDE HOURLY RATE

HOURLY RATE

170

No

HST NUMBER

HEARINGS

Yes

CONSULTATIONS

No

DISBURSEMENTS

No

HEARINGS

Hearings Hours Hearings Subtotal (\$) **Hearings Total Tax (\$)** Hearings Total (\$) 33.60 5,712.00 742.56 6,454.56

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
DISCOVERY Read and Research Applicati Evidence	on and	170		13.00		
Preparation of Interrogatories	10.90	170	1,853.00	13.00	240.89	2,093.89
Review Interrogatory Respon	ses 4.20	170	714.00	13.00	92.82	806.82
Technical Conference Prepar	ation	170		13.00		
Technical Conference Attenda	ance	170		13.00		
Technical Conference Follow-	-up	170		13.00		
Subtotal of DISCOVERY	15.10		2,567.00		333.71	2,900.71
PROCEDURAL Preparation of Issues List Sul	omission	170		13.00		
Attendance at Issues List Cor	nference	170		13.00		
Preparation for a Confidential	ity Request	170		13.00		
Prepare Submissions on Con	fidentiality	170		13.00		
Preparation of Motion(s) Mate	erials	170		13.00		
Prepare Submissions on the	Motion(s)	170		13.00		
Attendance at Hearing on Mo	tion(s)	170		13.00		
Review Procedural Documen	ts 1.20	170	204.00	13.00	26.52	230.52

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Subtotal of PROCEDURAL	1.20		204.00		26.52	230.52
INTERVENOR EVIDENCE Preparation of Intervenor Evidence	3.00	170	510.00	13.00	66.30	576.30
Interrogatory Responses		170		13.00		
Preparation of Witness(es) for Attendance at Hearing		170		13.00		
Subtotal of INTERVENOR EVIDENCE	3.00		510.00		66.30	576.30
SETTLEMENT CONFERENCE Preparation for Settlement Conference	1.70	170	289.00	13.00	37.57	326.57
Attendance at Settlement Conference	3.40	170	578.00	13.00	75.14	653.14
Preparation of Settlement Proposal		170		13.00		
Attendance at Presentation to Panel	1.20	170	204.00	13.00	26.52	230.52
Subtotal of SETTLEMENT CONFERENCE	6.30		1,071.00		139.23	1,210.23
WRITTEN ARGUMENT Written Submissions	8.00	170	1,360.00	13.00	176.80	1,536.80
Subtotal of WRITTEN ARGUMENT	8.00		1,360.00		176.80	1,536.80
ORAL ARGUMENT Preparation for Oral Hearing		170		13.00		
Attendance at Oral Hearing		170		13.00		
Oral Submissions		170		13.00		
Attendance at Oral Submissions		170		13.00		
Subtotal of ORAL ARGUMENT	0.00		0.00		0.00	0.00
DECISION						
Review Decision		170		13.00		
Review Rate/Accounting Order		170		13.00		
Prepare Submission on Rate Order		170		13.00		
Subtotal of DECISION	0.00		0.00		0.00	0.00
OTHER Other Attendance (e.g., Intervenor Conferences)		170		13.00		
Subtotal of OTHER	0.00		0.00		0.00	0.00
TOTAL SERVICE PROVIDER FEES Total Service Provider Fees	33.60		5,712.00		742.56	6,454.56

Attachments

<u>Attachment</u> **Document Type**

EB-2023-0195_CostClaim_DRC_TimeSheet s_DanielVollmer.pdf

Time Docket

Hearings, Consultations, Disbursements Attachments

Attachment
EB-2023-0195_CostClaim_DRC_TimeShee
ts_DanielVollmer.pdf

Document Type
Time Docket

Claim Type Hearings

EB-2023-0195_Cost Claim_DRC_Time Sheets_Daniel Vollmer										
Туре	Date	Hours	Description	Rate (\$)	Billable (\$)	User	Bill#			
TimeEntry	02/07/2024	0.8	IRP - Assist N. Daube re interrogatories on delegated	\$ 170.00	\$ 136.00	Daniel Vollmer	24116			
			portion of record;							
TimeEntry	02/08/2024	1.2	IRP - Assist N. Daube re interrogatories;	\$ 170.00	\$ 204.00	Daniel Vollmer	24116			
TimeEntry	02/09/2024	4.1	IRP - Assist N. Daube re interrogatories;	\$ 170.00	\$ 697.00	Daniel Vollmer	24116			
TimeEntry	02/11/2024	1.6	IRP - Assist N. Daube re interrogatories;	\$ 170.00	\$ 272.00	Daniel Vollmer	24116			
TimeEntry	02/12/2024	3.2	IRP - Assist N. Daube re interrogatories;	\$ 170.00	\$ 544.00	Daniel Vollmer	24116			
TimeEntry	03/12/2024	0.8	IRR - Review portion of interrogatory responses;	\$ 170.00	\$ 136.00	Daniel Vollmer	24116			
TimeEntry	03/16/2024	3.4	IRR - Review portion of interrogatory responses;	\$ 170.00	\$ 578.00	Daniel Vollmer	24116			
TimeEntry	04/02/2024	0.7	SCP - Assist N. Daube;	\$ 170.00	\$ 119.00	Daniel Vollmer	24173			
TimeEntry	04/03/2024	1	SCP - Assist N. Daube;	\$ 170.00	\$ 170.00	Daniel Vollmer	24173			
TimeEntry	05/31/2024	1.2	SCA - Attend on settlement conference (Day 5);	\$ 170.00	\$ 204.00	Daniel Vollmer	24173			
TimeEntry	06/05/2024	2.2	SCA - Attend on Settlement Conference (Day 8);	\$ 170.00	\$ 374.00	Daniel Vollmer	24173			
TimeEntry	06/10/2024	1.2	Procedural Documents - review procedural orders	\$ 170.00	\$ 204.00	Daniel Vollmer	24173			
			and Rules re evidence per N. Daube;							
TimeEntry	07/04/2024	2.6	Preparation of Intervenor Evidence - Assist N. Daube	\$ 170.00	\$ 442.00	Daniel Vollmer	24173			
			re expert evidence;							
TimeEntry	07/05/2024	0.4	Preparation of Intervenor Evidence - Assist N. Daube	\$ 170.00	\$ 68.00	Daniel Vollmer	24173			
			re expert evidence;							
TimeEntry	09/16/2024	6.6	APR - Prepare submission per N. Daube;	\$ 170.00	\$ 1,122.00	Daniel Vollmer	24173			
TimeEntry	09/18/2024	1.4	APR - Prepare submission per N. Daube;	\$ 170.00	\$ 238.00	Daniel Vollmer	24173			
TimeEntry	10/17/2024	1.2	Attendance at Presentation to Panel - Attend on	\$ 170.00	\$ 204.00	Daniel Vollmer	24173			
			Presentation Day;							
Total		33.6			\$ 5,712.00					